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MATHEMATICS SSC-i
(Science Group)

SECTION - A (Marks 15)
Time allowed: 20 Minutes

Fill the relevant bubble against each question:

Sign. of Candidate

Sign. of Invigilator

LiplSplel s 361 sz e dindy
.ﬁ;&)"dplb’ﬁ?wc‘;,ljjc«)‘blgfguw/&(.L[/

-qfx_:;(u/'bc/uZL,J&lréJif/:

a b ¢
if A4=[1 2],B= then what
n sl ] ]
is the order of matrix AB?
1 1=by-3 O 2-by-2 3-by-1 (O 3-by-2
. a b ¢
¥AB_5J B = 7l A=[1 2]ﬁ
1 2 3
ez,
What equals - in the following
,  options? _ ; 1 - O 4
‘ ‘-"a./.ff.étj(—f Y=} O
What is the value of log,3 is? Not Possible
3. s 3 O o 0.48 O S
0 #k o{Jlogl 3 t
T .
B is equal to:
4. | 1+3 O 2443 2+43 O -—2-v3
esls — \/5
Factorization of x*—2x+1is: ) )
5. N (x-1 (x+1) (x~D(x+1) (x+2)x-1)
s A8 X —2x+1 O O
What is the square root of
2
/8 ik [~(a+b-c)]
Which one of the following is a
2
solution of 6—=x<0 ?
7. 3 x>9 O x>-9 x<9 O x<-9
e SY6—- -;—x <0 b Fgd Ut
Which of the following lines passes
g through(0,0)? o120 O y=2 y=2x+3 O y=2«

e oSt (0,0) FIS i e Utritn
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If medians of a triangle are equal in Right
g length, then the triangle is: O Equilateral O Scalene O Isosceles O " isosceles
TS elwlusdasdd s le i LB o FUIGS PGS 26
-+
If one interior angle of a
parallelogram is 60° , then its
10. opposite interior angle is: 60° 120° 180° 360°
e iie 60° ,,IJJ,/;I,,_{IK(,WUIW?/I O O O O
?(ﬂb:‘;:’]duil
In a parallelogram ABCD, if m<£B is
obtuse then the longest segment is:
D C
T (7 O o O %@ O O @
, B
Iz LimLB Jit ABCDEM IS5
?.:"_E/u/ﬁ.xg(/c—
What is the length of the side of a
square, if its diagonal is J8cm long?
D $ C
RN
12. O 3 O 2 O 4 O s
A x B
fe\8cm JL«/J/';LJU’JJMK&,IJﬁL(‘}/ ¢
What is the solution set of
x+7+7=07 ; :
13. [x+7] O {} O {(-140) O {0-14 O f1a-4
e fer P|x+7|+7=0 cnl
Which one of the following is a point
of intersection of the angle bisectors Circum
14, of a triangle? O In-centre O centre O Orthocentre O Centroid
?‘gﬁﬂw&l}duiléw‘bﬁvui/gﬂs}Zy/) f/(}u}l if/v/li )(/d)/ V)//
3, 344
The simplified form of 1220) is:
15. s aw O 4t O ax? O 4 O ax
. 1253 (x%)
:.adﬁ /"' O/ T
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MATHEMATICS SSC-I

Y

(Science Group)

Time allowed: 2:40 Hours

Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logbook and graph paper will be provided on demand.

Q.2

Note:
Q.3

Q.4
Q.5

Q.6
Q.7

Attempt any NINE parts. All parts carry equal marks. (9x4=36)
()  Findthe values of x and y if _2[—x 3 }u{“ 2 }:[0 2 ]

1 =2 1 =2y {2 -12
(i) Simplify the expression 2 ?i and write the answer in the forma + b;

I

A o
(i) Simplify (x””}(w}(;*”J
(iv) Find xif log,(x*-2)=2
(v) If x=2-+/3 , find the values of x+Land x-1

X X
(vi) Factorize: 1—x” — y* + 2xy
(vii) Find the square root of 9x* - 24x’ ~14x* +40x +25
(viiij  Solve the inequality -;5+ ’%3 > -231—%(2;: +3) where xeWw
(iX)  Solve: 2% =§
(x) Draw the graph of y+4x+2=0 by taking at least four ordered pairs.
(xi) Using distance formula, showthat points 4(12,8), 8(-2,6) and C(6,0) form a right triangle.
(xii) Any point inside an angle, equidistant from its arms, is on the bisector of it. Prove it.
(xiii)  In A4BC, internal angle bisector of £4” meets CB at the point D such that

mBD:mDC =mAB:mAC . Find the value of x,
(xiv)  Inright A4BC , find the value of x if DE f 4B.
SECTION - C (Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3 x8=24)

SECTION - B (Marks 36)

Solve the following system of linear equations by using the matrix inversion method. 4x-6y=-2, x+3y=7

Show that the points 4(2,-3), B(6,-3), C(6,4) and D(2,4) are the vertices of a rectangle.

Solve the system of linear equations x+2y=-1, 4x-3y=18 by using the graphical method.

If two opposite sides of a quadrilateral are congruent and parallel, it is a parallelogram. Prove it.

From the following data, construct a triangle ABC. Draw two altitudes of triangle ABC. Write the construction

steps also. mAB = Scm, mZA=45°, mBC = 6cm

—— 1SA-l 2209 (HA) —
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6021’)’151(3),2?/f

59140025

UL 2t (03)E <3S ey o0 B 7(09)I L .00 5 (602l cridociz Lty Lpv sipneo 12
KWl g s/ TS BTN o i sl o2 LT §2 ol 13 S (Sheet-B) 221 24

(364 F)no
(9x4 = 36) s LG S a2(09) e (S i

-q/r)#ﬁ&y,,xxumi-z['lx 3]+4[_1 2 ]:{0 2 }/t

-2 1 2y |2 -12

2+3i Jgﬂ;‘fﬁd’ a+bi y’i-”u.//i?

24i
)z
e ed s Fog (0 -2 =2 ]
-gj"/r)"u.‘:ng—;lc-Jﬂx+%;x=2—\/§ﬁ
1-x%—y% +2xp ;J':d/;
Ox* = 24x° — 14x? +40x + 25 / /| S /u@(éﬁd}.;

er.?%+x—;§.>_—23£—§(2x+3) J_/U’/@bl//;;
5-;9x =ﬁ31_ U:/Jp

Y¥ax+2=0 g SIE G A Lussnai i3

bzl sl N8 LT C(6,0) 50 BE2,6), 4(12,8) b8 S S sl sy fi Ao
-g_bnél,4wt£4_,tjur oI il S E U1 B LIS U Saa J:,JUJ( Sy ek
mBD:mDC =mAB:mAC S e /U 14 D S5 BC & st A i1 L ABC

A -Q/(:L"b"&g&; x9

(24 7 ;f )

(3x8 = 24) s Ludr - gE S Dired < 35
bx—6y=-2, x+3y=7 -u;/‘)’:,u.JJﬁ*L}ﬁLuz‘Wu?i,us@

S LI L D24y 4 C6,8) B6,-3) ¢ AQR-3) b8 S S TuP

x+2y=-1, 4x-3y=18 S cral IS Ut 5tns

e QoI5 oIt i f o S LA g5 S S et A i

mAB = Scm, m4A=45°, mBC =6em -4 F S S 7.—’-@‘?((6&7/!);/ nl QU L e di_flABCEL: 1A Uly
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Deleting/ iting is not akowed. Do not
Ieeag g’legn(::\ifﬁrwrl ing i1s not aliowe 0 not use SECTION _ A (Marks 15)
Time allowed: 20 Minutes
Fill the relevant bubble against each question: L Pren g L g
. |2 6 . . .
What is the value of x if ‘3 x‘ =07 :
1. : ) 6 O O - O s O -6
RIS \:of. -
3 x .
What equals #* in the following
options? :
2 ~ _
’ Y$_/_I/_£u/is A=) O ! O ' O ! O :
If log,1==x then value of x is:
3. - 0 1 3
sfifed§ x ilog,l=x O : O O O
if§/64 =27, then value of x is:
4, ' 0 . 1 2 6
o gz O O O O
Factorization of x2—2+lzis: N [ 1)[ 1] . 1' L .
e .
s- Oy oYY O Y 0wl
?Jngdy.’(fxz—2+—l? x x _ x ¥
. x .
What is the HCF‘of—Zw3,4x3y,6x3y3’é ‘ .
. . - 2 23y 4%
° e W 2xy’ it 4x7y, 657y O -2 O 2 O r Q
The solution set of lx|+9=5 is: ) »
7. H} 4 -4 {}
-4 &:Jb’|x[+9=5 gl O { } O { } O { } O
Thelines x=35 and y-=-—4 Intersect o
each other at: '
P ‘ . —5,4 5,—4 5,0 (0,~4
?wd)’(}!"ulﬂ/fg/uu@x=541[y=—4;_}f‘|1 O ( ) O ¢ ) O ( ) . O ( )
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Measure of an exterior angle of an
equilateral triangle is:

Q @2 O 49

?{__U/,.S.'i‘d_b‘.’:(b,.agé: (-4, 2) 2 (4,2)

©2) .

. 60° 120° 180° 360°
v?t-n&l’,;udwrbu:vmd,u O
In AABC if msA=60°, mLB=45° At the mid of
then the three right bisectors of the Inside the Outside the S the shortest
10, Sides lie: ‘ O triangle O triangle At the vertex side
7 mdA=60°, mLB =45 LABCeL ] s Ll Iy LFl A
St Lo LAY (il
In AABC if mdA=80°, mLB=40°
and msC =60° then the longest ‘
11. segmentis: O B O BC ac Median
) LA =80°, msB =40° LABCEES S s
?%L;ufb;gwa._./; m£LC =60°
What is the value of (x)?
12 O 2 SR N7 5
te 2 (x) b
Which triplet of the following are the - ,
side measures of a right triangle? - " o
13. : : 1,43, 4 - 1,2,45 1,2,3- 11,1
tepfais 0 2P WS D et S B O 7~ O ’ '
Medians of a triangle intersect each
- ptherin ratio: - ' - T
14. - ) 2 2: 2:3 3:
Y{ﬂ.&[&?a.wff;/uw{fé,bjéw O -9 : , 12
"What is the mid-point of the line
segment joining (4,2) and (-4,2} 7 ‘
g, Segment] g (4.2) and(-4.2) o
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MATHEMATICS SSC-|

(Science Group)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly. Logbook and graph paper will be provided on demand.

_ SECTION - B {Marks 36)
Q.2 Attempt any NINE parts. All parts carry equal marks. (9x4=36)

0) Find the values of x and p if -a[l _2}2[2 _y]{l 2}
3 x -1 2|7 =2

(i) Simplify 3; 2f and write the answer in the form o+ 5
+i

. \ xp(qfr) %7 '

(iii) . Simplify W{x—f’]

{iv) Find xif log,(x* +1)=2
(v} f x=2+43 , find the values of x+l and x--l—
X X

{vi) Factorize the expression p* - x* +2x-1.
(vii) Find the HCF of x*+2x-8 x*-2x-24 and x* +5x+4 by factorization.

(vii)  Solve the inequality %Ji--;-(n y)s%y—é-(!i- ) where yez

(ix) Solve:

5

(x) Draw the graph of 4x-2y+6=0-by taking at least four ordered pairs.

{xi} Using distance formula, show that points 4(1,2),8(2,3) and C(3,4) are collinear.
(xii) Any point on the bisector of an angle is equidistant from its arms. Prove it.
{xii)  In A4BC, internal angle bisector of 24 meets CB at the point D such that

7xﬂ4‘=2

mBD :mDC = mAB:mAC . Find the value of x . A

(xiv)  In A4BC DE| AB and fﬁf=%ﬂ _find the values of x andy.

SECTION - C (Marks 24)

Note: Attempt any THREE questions. Al questions carry equal marks. (3x8=24)

Q.3 Solve the system of linear equations 2x+5y=-2, 4x+ 7y =2 by using the matrix inversion method.
Q.4  Show that the points 4(-6,-2), B(1,-2), C(4,3) and D(-3,3) are the vertices of a parallelogram.
Q.5 Solve the system of linear equations 2x+3y = 5, x+ 2y =2 by using the graphical method.

Q.6 If two angles of a triangle are congruent, then the sides opposite to them are also congruent. Prove it.
Q.7 From the following data, construct a triangle ABC. Draw two perpendicular bisectors of any two sides of the
triangle. Write the construction steps also. m4B = 6em, mZ4 = 60°, m£LB = 45°
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[+ o o) il (ol
(-,d;ux‘l/)

60y nlpa) 20 / f

_qfd’_»my(oB)J;Jf;u:rf.»,@rz;(09)}&,»»,,v_q;,;,dﬁ}lzt.';d/&rcmﬂ‘gyz.ﬁ&mrerfr,u? 0
-!’i_lyg.l(f/_L..’f_;«}s/‘ﬁn.}‘!fﬂl...fjﬂ-ﬂlgi.ﬂipfumjl.ﬂapﬁLvr,Jngd,_lrp’g.é_/rJ(Sheet-B) _*f'l/ff.rl

(36 / f )r»,.-v
(9x4 = 36) i L S wa(09) Je i e Sk s ¥ Ay
-u:/["jh"u::;"'(;yﬂlx 0. 70 —3[;3 ;2]+2[_21 ";:l=|:; _22])1 (I)
P arbi i LA )
,._Lﬁ:[r] IV 7=y

-u:/pl’”:.a:;’.L{x;Iogﬂxsﬂ):z/ﬁ (iv)
-q/r)l”‘ufgd/x—i—ﬂlx+§;x=2+\/§ﬁ (V)

-5+ 2x-1 -Q_;Lff-d/éﬁ (V[)
X +Sx+d P+ 2x-8« xz—zxv24_q/(#'df;_u;g,)"'u& (vii)
yez o 2 ‘u+y)g§y-§(s-yufwm,u,_f (viii)

33
7x—41=§ u”‘)’d" (ix)

. 5
ixlaypre=0 g SIE SR Losni il ad (%)
B A C(3.4Y 2UB(2,3) « A(L,2) b SIS b Gy 5 del (i)
e br i o i L ot oSS et (xii)
mBD:mDC = mAB: mAC S SEUA U1, D 5T BEL K 4 pibui £ apc ke (i)
A A b ed $xd

-q/r#'w"f Syt x 3 DE=L7B .4 DE|AB St ABCEAS (xiv)

2
4/ F Iy
(3x8 = 24) s Ly (i S Jiref < 35

Yx+Sy=—2,dx+Ty=2 ,u_*fd’:..uJuﬁq/béu;!ﬁ'fu?uué“d; Al

S RIS T D(3,3) 21 C(43) ¢ BL-2) A(-6,-2) BES STl 1 A iy

2x+3p=5, x+2y=2 LI corald S TS Ul 104Uty

LS e Loiund B wnLedt s N0y ek Ay

mAB =6em, med=60°, meb =450 g1 F J /uu:‘“{ (St LCUJI»U’( Cats S ABCEL: AUy
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